mini Crostic Puzzle 1910
The proof is in the pudding.
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Paul Scofield won an
A Oscar playing Sir Thomas
' ][\_/||0fe in this Oscar-winning 157 20 8 143 147 33 165 104 38 13 128 53 86 115 117 136 97
iim
B Explain or understand
) I B —————
wrongly 11 151 92 138113 5 161 158 76 31 37 18
c Was p_rominent or
" conspicuous 85 137 108 77 159 100 142 133
D. Obligatory task -
155 135 126 134
E. Penn State athletes o
109 131 116 114 73 106 75 120 127 88 101 15
F. AWOL I E————————————.
26 118 43 153 54 105 156 125 160 79 107 64 98 132 30 17 89 14

G Inthe | possible

' outcome

H. Racing legend A. J.

I. Have a good time

Bavarian tourist attraction
J. with over a million visitors

annually

K. The proofis in the pudding

Give (someone) the legal
L. right to power, property,

etc.

M Short musical composition,

22 110 130 61 149103 111 3 87 9 27 96 82 65

1 47 45 70 28

52




Realistic representation of
N. everyday experienceina ——
movie, play, or book

Long-running crime drama

O. soap opera with over7400
episodes 16 74 42 164 66 94 35 141146 57 121 67 25 102
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